
SAP ABAP table I9RMEOBWK {Barwert::}

I9RMEOBWK

MANDT [CLNT (3)]

SICHTID [CHAR (3)]

PHID [NUMC (3)]

AUSWERTUNG [CHAR (4)]

REGELID [NUMC (10)]

SZENARIO [CHAR (10)]

BUKRS [CHAR (4)]

VERDREGEL [CHAR (8)]

WAERS [CUKY (5)]

WAEHRUNG [CUKY (5)]

ADDSHIFTQU [UNIT (3)]

LZB [CHAR (4)]

JBREVAL

MANDT [CLNT (3)]

AUSWERTUNG [CHAR (4)]

 I9RMEOBWK-AUSWERTUNG = JBREVAL-AUSWERTUNG 

0..N

1

JBRLZB

MANDT [CLNT (3)]

LZB [CHAR (4)]

 I9RMEOBWK-LZB = JBRLZB-LZB 
0..N

0..N

JBRPH

MANDT [CLNT (3)]

SICHTID [CHAR (3)]

PHID [NUMC (3)]

 I9RMEOBWK-PHID = JBRPH-PHID 
0..N

0..N

JBRREGD

MANDT [CLNT (3)]

REGELID [NUMC (10)]

 I9RMEOBWK-REGELID = JBRREGD-REGELID 
0..N

1

JBRSI

MANDT [CLNT (3)]

SICHTID [CHAR (3)]
 I9RMEOBWK-SICHTID = JBRSI-SICHTID 0..N

0..N

JBRVREG

MANDT [CLNT (3)]

VERDREGEL [CHAR (8)]

 I9RMEOBWK-VERDREGEL = JBRVREG-VERDREGEL 
0..N

0..N

T000

MANDT [CLNT (3)]

 I9RMEOBWK-MANDT = T000-MANDT 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 I9RMEOBWK-BUKRS = T001-BUKRS 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 I9RMEOBWK-ADDSHIFTQU = T006-MSEHI 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 I9RMEOBWK-WAEHRUNG = TCURC-WAERS 

0..N

0..N

 I9RMEOBWK-WAERS = TCURC-WAERS 

0..N

0..N

VTVSZKO

MANDT [CLNT (3)]

SZENARI [CHAR (10)]

 I9RMEOBWK-SZENARIO = VTVSZKO-SZENARI 

0..N

1


